1. (1 pt) Suppose you set up the experiment so that the plate is ejecting electrons. ict
which of the following changes to the experiment could increase the maximum(initial
kinetic energy of the ejected electrons. (Select all that apply) Then test your predietion.
-

r

A. Increasing the intensity of the light beam

B. Decreasing the intensity of the light beam

F C. Increasing the wavelength of light

V' D. Decreasing the wavelength of light
h E. Increasing the frequency of light S

© F Decreasing the frequéncy of light

U B Increasing the voltag\egﬂhe{mtew

r H. Decreasing the voltage of the battery
2 Replacing the target with a material that has a larger work function

f\'/ J. Replacing the target with a material that has a smaller work function

r B. Decreasing the intensity of the light beam
= C. Increasing the wavelength of light
F/ E. Increasing the frequency/o/f light

r F. Decreasing the frequel{:y of light
-

D. Decreasing the wavelength /of light

G. Increasing tllle voltage of the battery

I H. Decreasing thé voltage of the battery
. L. Replacing the target with a material that has a larger work function
J. Replacing the target with a material that has a smaller work function
3. (0.5 pts) What causes the electrons to be ejected from the left plate in this simulation?
& A. The force exerted on the electrons by the battery
;D/ B. The beam of light sf%i@jng*on the plate

C. Both A and B.
D. Neither A nor B.
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a. (essay) Light is shining on a metal and electrons are being emitted. You turn the

intensity down very very low. il it y s
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b. (essay) Light is shining on a metal plate and el iﬁons are being gmitted. Withou
changing the intensity, you make the wavelength longer and-longer.
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5.(0.25 each) If you have the experiment set up so that electrons are being emitted from
the metal plate, which of the following are true and false?

True False As long as conditions do not change, all emitted electrons have
the same initial kinetic energy. e

True C/ False The work function
electrons.

C ‘V/ False

True
work function of the metal

4 True © False The electrons emitted with the largest initial kinetic energy are
those that were the least tightly bound in the metal.

r the metal is different for different

of the photons hitting the plate must be less than the

_6. (essay) Explain what the phrase - 'the work function for sodium' - means in a way that
would make sense to a non-science person
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